Arm Chair A va ri®

Holds up to 300 Ibs
(136.08 kg)

SEAT
x1

M8 X 25MM SCREW
i
M8 X 25MM SCREW

REAR BASE

FRONT BASE

REAR BASE
x1

FRONT BASE
x1
N
. Place the Arm Chair on a clean surface with the bottom of the Place the FRONT BASE onto the SEAT, aligning the screw holes
M8 X 25MM SCREW . seat facing up. Place the REAR BASE onto the SEAT, aligning with the insert nuts in the SEAT.
x6 . the screw holes with the insert nuts in the SEAT.
N : Insert (3) M8 X 25MM SCREWS into the FRONT BASE and
. Insert (3) M8 X 25MM SCREWS into the REAR BASE and secure it to the SEAT using the included SMM ALLEN KEY.

5MM ALLEN KEY

x1 secure it to the SEAT using the included SMM ALLEN KEY.

ﬂ (800) 207-2587 . . . . .
- Patent and trademark information: vari.com/patents ©2024 Varidesk, LLC All rights reserved.




